Ed-CET-2009 KEY

Note: Ed-CET-2009 Test Questions along with key is given below, locate the question in your respective test book let series i.e.,(A,B,C,D)
with key. Objections regarding key are invited, with written authentic proof to the Convener Ed-CET-2009, Osmania University latest
by 23rd June 2009.
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31. A particular integral of — —4—+ 4y — xe™ s
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52, The solution of | ¥ - Ly dr + L 01is
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(1) (x* -y =22 @) (Freyy=2x2 .
(Ans:1)
(3) (& -e)y=-2% 4 (FF+eyy=2x
. dy Gl
33, A particular integral of —: Fy=sinx is
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" : E (Ans: 2)
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54. The zeneral solution of ¥*y™ = 24" is

bl -
x°y" =2y g drorde S

(1y ¥ a+bhlogs+ex (2] v=a—hlogx - cx'
(3 v=a+ hlogx | o 4 vy —a+blogx + o

(Ans: 3)

55. (2¢¥ = x) ¥ = | is the differential equation ol the amily of curves.

= RN

(287 — x)p =1 2% adEes SlofSemtios e S SoseeDE Bofoo.

i1y x=ce " =¢” (2) x=&¥ +e ¥
: == o (Ans: 2)
(3) x+e? = ce @) x=e ¥+ oot
il day + _‘Ez
56. Integrating factor of —- =
niegrating factor of - X2 + ey i
v Jay+ }'1
(1 &1 (i (Ans: 4)
(3) log (4) =

57, The general solulion of ¥ + y = cosh ¥ is
¥ 4 y = cosh x 5 2ripdes SRR
(1} p=goosc+eysing - cosx (2} y = cosxy 4oy sinmx+sinx (Ans: 4)

: |
(3} v =g o5+ 5in v +sinh x (4) ¥ =0 cosx+oysinx+t E"Uﬁh X

38, A solution among the Tollowing satisfying " — v = cosh x is

A <1 - s By e oE
Eidd” v -y = coshx Se dhgilhg SROBE e

(1} y=sinx+ %rsinh x (2) ¥=uosx +'§cush b (Ans:3)

X
(31 y=coshx+ = sinh x (#) v=sinx+sinhx
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(2x+ Lf ¥ = 2{2x+ 12" - v =0 is the differential equalion of the lamily of curves,

(Zx+17y" 220+ 1)y - v = 0 28 308 Spe Deucerdd shites 9ustne

1= 7 2 X Ir—J ) o »
'ﬂ-:' ; 4 {LI L ]J ' {’2.‘( + 111 |:1.| ¥= a2y + 1 +_||;||:E_1; L ]__']"' (AnS. 3)
I:E‘-]' y=ax2e+ 1 |,I|:J_ ‘.4:' _}'=EI|?1I'+]_]+ ]
W2x 4] ’ 2x+1]

The eguation of the curve passing through the origin and satistying the differential equation
(14 53y + Zav = 47 i

seretlotol Motrdfie eiied Bttt 14 ¢ ¥ 4 2xy = 4x W0 Tdd BEo Blcte;o
(1) loz log x (23 3p{1 20 = dy (AnS. 2)
3 3 4 yil+x) =4

Ihe sum of coefficients in the expansion of (1 - x)7 is
{1+ x)0 C-?:«:EI:_, :J.'.acr':-cf-_u Femmmeddo

(%6 2 ! (3) m2"-! 4y 2" (Ans: 4)

IfF AAR ={A— 81w (R - A)[or any two sets, 4, B, then AABAA =
Jair) Boch: BIEnE AABR =(A- B)U(B— A) e AABAA
i a8 {2) 4 (3 o 4 B

(Ans: 4)

o IE o by, 8 are the roots of the equation +* — 3y — 5 =1 then ot 4 B* + 4t + 5

= .:b

By b oen ¥t —lx-5=0 w TAsSTETN ST ook o +|‘54 + ':,f'l F&t=

() 20 ) 10 (3) - 10 () 30 (Ans: 1)
If xe R |x= 1|+ 2| x=2|<6 then x lics in the interval,

xER|a+1]4 2| x-2| <6 ecosd x 5o 50 mobto

() -1 2] (23 (oo, — 1
(3 (2, =) (4) (===, -3 (DELETED)

(One Mark added To All)
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Il 7 is u prime number that leaves remainder r = 1 when divided by 6 then r =

6 & arfchedrn Brritop p Boo r# | mntgod] r =

(1) 2 () 3 (3) 4 i 3 (Ans: 4)
The square of a natural number never ends in the digit

2 Ty DET D DI0 s ool $ERcon,

(y 1 (2) 4 (3) 9 4) 2 (Ans: 4)
In a triangle ARBC, D) is the mid point of BC such that AD = BD = CI3, Then SBAC =

& Pntac ABC £ AD = BD = CD eudogs BU ok Dot D ewond LBAC =

{1y 60 () 15" ]

{3) 90° (4] 120°° (AnS. 3)
If risaroot of X +x+ 1 =0 then o200 + " =

A, ks
FAx+l 0EHooey Sorened MR g 2009 =

(1 1 (2) -1 (3) 0 (4) o (Ans: 2)
The sum of all vwo digit odd natural numbers 15

Soucio il Brutogn Do

(1) 2475 (2) 2450 (31 2420 @ 2480 (Ans: 1)

Three cubes each of side 5 cm are joined end to end o [orm a cubaid. Then the surface area ol the
cubnid, in sguare units, is

- . . I: - e . = 3= L S T -

BATED gheo § Bule, e ol Soereiic of 00D ok w8l T o¥ DOeto Shiesy wlain .
z = . i 5

s o SOl ciibse T Sad e,

(1) 350 (2} 430 (3) 500 @ 550 (Ans: 1)
In atriangle ABC. tan A +tan B - tan C =

digicess ABC & lan A + lan B + tan C

(1 0 (2} tan Atan B lan C

(3) tan Atan 1§ an Bian € tan Can A (4) 1 (Ans: 2)

- e 2
sinB +cngecl — 2 = sin" B+ cosec” B =

(y 1 2y 2 (3)3 4 4 (Ans: 2)
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A
M=

17

fan 7= lan 237 tan 0° tan 67° tan 83° =

(i} 0 2y 1 ()
sin> 1% + sin® 2° + .. 1 gin:'::-Hll“ =
(1) %0 (2) 455 {3
¢y e
tan™" x = sin | Bl g 12 |=‘-' e
3 13
iy = g 0 =
o 11 & 33 {3)

I a wiangle ABC, under wsual notation, rryror; =
1 =5 . ot s ¢

.-U;th;t:.-. TED Savy Mol Gl PR -

(1} A 2y A (3)

. The general solution of 1+cos26 =0 is 0 =

1+ cos 20 = () & 2odies 05 B =
. A t
(1) LEJ’L_—I:IE;RFJ': () nata,neld 3

smhy=4 =x=
(2} lozi4-+17) {3

cosh ¥ = ¢ = sinh 2x sinh x =
{1 & —u (2) & +a (3]

(1) logid+ 173

£

46
33
lﬁ.-.:
'3 1 h

2n i‘: ]J'i!'. ne ¥
log (4 + v/15)
Ewl — i)

If w is a complex cube root of unity then the roots 2727 — % = 1) are
w il D55 Bolpeiioronsd, 2727 - 8 = 0 dlaol, Sarered

z "
W (2}

| b3

=
-—

s— W, —
a8

| b

(1)

——tat ""I:.,

| b2

W (4}

i
| b

(3]

s | B

L | ra

| b3

L | ra
L | b
[+

3
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=

()

()

(4)

(4)

(4)

(4)

(4}

i (Ans: 3)

0 (Ans: 2)

= (Ans: 2)

(Ans: 1)

ﬂ.q
(Ans: 1)
EJ!}TL§,|’ELE
(Ans: 1)
log {4 — 415

a—a | (Ans: 3)

(Ans: 4)
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(1}

)

(Ans: 4)

(1) 0 4y 5

The sequence 1,472, 33, 44, i, e cORVETZES to the following limit

— = _ =,
L2 33 40 8 e e B0l s0dd wdBinged.

(1) o 2) 0 | (Ans: 3)

(3 1 4) -1
2 y:
g =1
hmi,iL k!]-l_h'r=]=:~r.:-|4!?—
=D x® —hEin® A
{1y 2 2y =2

(3) (4) -1 (Ans: 1)

_— | - i
supremum of the set {1+ THE N 15
' |: _1-}?1 .
- et | s (Ans: 2)
o 5 o 3 . T ” .
| - et z oy : e

IT spm x is defined as | or (hor— 1 according as x = 0 orx = 0 or x < { respeetively and if |x] is the
greatest integer not :1m-;11|1g x then the limit of |x] + sen x at x = 0 is

SRRl St FEosT [x] whir SEnm e 0 dor v = 00 80 x < 0 et sgn x el 1 S
0é-13 ‘i,_.‘j-ﬂv-%;,_h x =053 [x] - sgn x e
(1o {2y -2 {3y 2 4} Does not exist

A -t
D 5T
(i

(Ans: 4)
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(—11"
#6. The number of limit points of the set | e E]

..- n
i, TRE 31 R WP
wd | e Rk, eDh Uolige Hogg

(Ans: 3)

(1) 3 (2) = (3 1 (4) 0
2
87, l[.x[.x]dj;—

(Ans: 4)

5
i1 5 {2) 3 i3y 4 (4) 5

gg  lim | —-
xoMl X tan

(1) 1 2y 2 (AnS: 3)

3y 0 ) -1

1 1 )
|

I{ 'l,‘II] T 1.,'|I_-":
By, | ——dv =
I v

() 3-42 @ 3 BE2) @) $EB-2E) @ o (Ans: 3)

o0, If 7 -2, 21 — R is delined by vy =c¢*, xR then a value ol ¢e (-2, 2) such that
4f ()= F(2)- fF(-2) is
Fi1-2.2] = Re@b f(z) =", xe R 22G0cuads 47(0) = f(2) - f(-2) edagy ce (-2, 2)

Ao (Ans: 2)

5

5
(1} log (cosh 2) (21 log lEmnhE

(3 27 loe (sinh 2)  (4) 277 log (sin 2x)

91, If §is a set consisting of # clements, then the numbers of functions from & = § into & 18
# aremrensy BDAN of Sod 8 ocwd § % 8 Hoed § £ Mo PReciTe Doge

Ans: 3
- “} HE (2 " {3-} “J'i.'l M‘} n?n ( )
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F=2"2 o flx+ )+ fla-3=

A

(1} £ £ (21 Zfex) F) .
() £) 1 ) @) 2509 +F0 (Ans: 2)

53, the symmetric group on three leliers s un example of

e

I e o . AR Mo s e Fu ’
e ET-&U':‘J:.:J ...I"J_"-W"n.uu_J":.l\_‘U ﬁ; fttew o f-:l.& |3:~J~.JF'.-.- A Sl L
i )

(1% a non-abeliom wroup (29 a cvelic group
A0 S SBRaTERD o ST

(31 an abelian proup (41 a=simple zroup P
N Ry (Ans: 1)
et I b ML

Let € be a group of order 15 and & (# {¢}) asubgroup of G with 4 « & Then a possible order
of I is
15 semone fo ad aterire G, 03 H (2 le]) nf &interire, H 2 G =iafod. sind Dodly

i
I e

(1) 7 (7y 10 (31 6 4 3 (Ans: 4)

Let 8, be the svimimeteic group on g letlers, G the multiplicative group of integers {1, 1}, If, to cach
G e S, W is 1 or - 1 according as o is an even or odd permutation. then the kernel of the
homomorphism W is

n eSETED E'l"":aw Sartng Sy, feemToo Selig 11 -l SerTo GoeniaSlad, i 0 e 8§, 5o NE

£, T i s 5T T e bt o
S B DO URsE RO O () B 1 Soe -1 ar Sy, Bt g akol;, Sele

{1 e} (2) {1} (Ans: 3)

{3) The sel ol all even permutations (4) The sct ol all edd permutations
BoES Teo dad 05 ERrTrelyoe) i

If w {#1)is a 37th oot of unily and if &7 15 the eyeliv group generated by w under multiplication then
the number of generators of o 1s

L — 1 - = r ] EE) e . = - e — [
w(#1) sl 13 375 Sorate, w D addkdoi O o oo 0 sumd O F Ao Y Sueshe B0y

(1) 1 @) 2 3) 36 4) 9 (Ans: 3)

The number of fields of order 121 uplo isomorphism is
Sowgtinsii 26 88 SlEodd, 121 sundim fe Geme Hogy
iy 1 2y 0 3] = {4

' " (Ans: 1)
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98, 10{x" +1 Y is the ideal generated by '

the following,

It I} bl
socieo R [x] & 7 1 1 3 moednd eots {25+

2y

+ 1 in the ring R [ x], then %

IR x]
T s asermoophic te ane of
AT+ 1

Rix]
Y wwoess IR i 2ofy Fads”
; o

99, An ireducible palynomial over O among the following is:

; = . B i

Eodeld @ » el win wlosd
! 2

(1} 2% —ax*+3

(3} x—6x+3

100, The minimal polynomial of 2 + /3 ower Qs

TR WD

Q2 W2 +43 cig,

(1) x*-10x* +1 (2} x* +10x" +1
—I g N il &
101, v —wn™ =S e S|
| W1+ x —Al-x | dx
1 l
— .
l:“I E'I.'I] -X I:_] 2'\'1 .TE
% | v
102, r=gcos B, v=gasin” 00— —=
£
1 1
P x s (s
(1} 2 =
Ik'l'-l.-' |"-;r--'
2 Y
103, y=z° 32
ay
11 x |E]g1:’.r! 2y o ll-r:ngm1
_'l‘.
b

(3} Q 4 Z
i (Ans: 3)
(4 2t -3

(Ans: 1)
(31 S -10x2-1 (@) £ +10x% -1

l ] -
) e @ —— (Ans:2)
wl—x Eath I
L : I
(3 _i L {4] --II .:1-. 3 (Ans: 4)
k8 4 E L e
(3 €+ oz ex™ ) @y 2% a
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4, 1 = iy
Ay =Sy = I:— =
i .
(Ans: 2)
X+ 'y _'['ﬂ — Y |_-2 | I:TI-:: _.l._fl —r
1 | I 2y ~ ] e G N ey
- ¥ oax ( £ ¥ i) _'f':l v

Iy 1 ERN 2 - K
¥ —| T4+yl4+.7 | =1 a1y =

’ :  (Ans: 2)

(1) #° ) oy (3) -y (4) —n
R _ | z ﬂ'z}'
r=ain Loy =t = — 1.7
e |1 =3
*\"—'- 1 1 - ".'.3 .
e @ 5 i == 4 — (Ans. 4)

I'he rates of change in volume and in radius of a sphere are equal when the radius is

I - Tty s T ST -, P S P o ’ "
w4 ROED Jusistereo .J.T“-ﬂ;:é&,_.-, ¥ gl il 3 Rt el S Thh i v -:i""’gﬂ ol Ddons ESinati.
s o o s

Ty
1
) W AT HTIE

[

T _ | ]

-y

) . Kool wo — i . .
[ 1he line - + I is a tangent w the curve ¥ = be 7 then the poinl of contact is

i

.f‘-'__:"“ .._1'+‘_u | ‘~r_,"| = X &

= Srad —+==1 w555 8o o 2By od e Syndoting .
c b o b R A 3 q"‘w ".hlq:l Do e |'Li'--""":f""' adong, (Ans- 4)
(1 {0, 0y (23 (a8 {30 (h 41 {h, M
) ) e loge v
For x = 0. the maximum walue of S (a) = ———jz
] loe

Fix)= ; o (o U & AERS Dot

2 o
(1 2e (2) e Y (4

& 2o

(Ans: 3)
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111.

112,

113,

114.

M&

1 f ) —a fF(x)
I /is dillerentiable at a then I'T: S =

ooxfiay—alix
a 55 fuBtelato eud M ! ,L._HH : (Ans: 3)

(1y o (2} Fla () flay afia 4 el fla

1 kl — - 3
The projection ol 2i—3 j+ 6k on the veclor i+2 j+2F is

NEE P+2f+2h 0 2i-3 16k ool S0

| B 20h e 4 .
n @) @ = 4 = (Ans: 3)
a 3 3 3
I fl = 3_;:.;?+ j,-*}, then J Fodr=———along the arc ¢ ol the parabola v = 2 from (0, 0} to
(1, 2)
I’.—_‘!_L_u j}—- .1::..?2 et P = 2t Soteotio (0, 0) sdosa {1, 2) 285 uda € Aol
[Fdr=—
e
25 25 - 25 25 _
i} T (2 i {31 G (4} 3 (AnS. 2)

Supposc O is the centre of a cirele and A, B, C, 17 are lour peints on it If & 10C = 140° then
SDAC 1 1M
O ZeBorr Ko S5l
ZDAC + ZDBC
(1) e (2) 120¢ (3) 140v (41 1807

cn A, B, O D oo ooy atwﬂwm W B, £ZDOC = 1407 ot

(Ans: 3)

Twa circles of equal radii with centres A, B micrsect at 1" and ). I'AB = 6 cm, 1) = 8 ¢m, then
the radius ol ither circle {in cm) is

A, B = Soprenm AR AT g o0 Mo Toth e P Q e B¢ podell o, AB=6 2.0
PO =8 0o esonsdd o5 '-_L':' w2 '\'}\._. [F00md) ’

(1} 10 (2) 7 (

) 6 {4y 5 (Ans: 4)

[P.T.0.

el
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The ratio in which YZ planc divides the join of the points (2, 4. 3) and (3, 3, <) is

fiodafme (2, 4, 55, (3, 5. —4) o 0% Syr 0oy YZ doc 2200E 098 (Ans: 3)
(1) 2:3 @2 3:2 () -2:3 4 4:-3

The angle berween the planes 2x —py+z=6andx + p + 22 = 7 isg
Zx—p—z= B+ y+ =T den SochkE e :

) : (Ans: 2)
(1} mi {2) mf3 {3) m'd 4 n2

The cquations of X-axis in it normal form are
sfioon Srdod’ X-efo Biotiermn:

(Ans:.4)

LG s y, & _ Y _ & o 2 _Z F_X_Z
W =171 TS o e T TR
Volume of the sphere 2+ 2712228 —dx + 129 - Bz + 8 =0 (in cubic units) is approximately
figo 2%+ 2% + 22 —dx + 12y — Bz + 8 = 0 SonadErme (359 CETDedT) eeTumodin
850410 440410
Y = B B
880 440 (Ans: 1)
Y T
r—=1 -2 -3 — P i=3
The shortest distance belween the lines 'L? = s = 1 and = 3 : =2 y : N Z a 1%
Boised EeslesyeidocesS xe2 e @S - o e g
W DA BT e TR = n 7 5— L3 h..,c',fE SR, e
i i {5 5 . (Ans: 2)
W 7 @ & (3 3 4 27

The general cquation of the cone passing through the coordinate axes 1s
NS ez o Tl Bondd Rlately Sl S
9 ¥ ) 2 1 a
(1) ax"+ by —ez"=1 (2) ax~+ by +ez =10 A
- ns: 3
(3} A=t gz + by =1 (4) fim+ gex + fxp =10 ( )
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121, The equation of a straight line passing (hrough the point of intersection of the lines x + 2y — 19=0,
x—2dy—3=10and is at a distance 5 units from the point (-2, 4) is
oty (-2, 4) Moo 5 whrley drdof donr BHSew x+ 2y - 19=hx— 2y -3 =0 o poxs

Lot Mol JFul a8 atefer st

5 3 ‘
{1y ¥ -1_|g (x = 11] ey} _‘.--+=1-_—]1 (xr—10

5 5 .
i3) _}"4=FU€ - 11} (4) F+4_EE; 113 (AnS. 1)

S

122, The orthocentre of the triangle, having the equations 2y -y =9.x + ¥ =92y —x ~ 9 as the equations
of its sides, 13

Ze-p=%ox 0 B2y —x =9 e ghere BLEERCT Mo HEbaty couingio
(1} (4, 4) 2) (3, 5) 3) (6, 6) @ (7,7 (Ans: 2)
123, The distance between the parallel lines Oy ey | _uz'— 1By —ay + 8=10is
BErosd Spos S — Gy +I].-'T| P 18—y + 8 =0 e Jogs drdo
1 3
3 N T

1 2 (Ans: 4)

B3) o 4 o
124 Ifx  » -1~ 0andx — »+ 35 =0 are tangents o a circle 8 then the radius of § is
eEBoSSx vy 1=0,x+p+3 =0 D8Sge o w Sbo SR
, _ I _ (Ans: 2)
(1 242 2y 2 ) S 4y 442

V2
125, The equation ol the cherd of the circle &° + 3 25 having {1, 1} as the mid peint of the chord 15
¥ +37 =25 &b Sy, (1, -1) o Soticipne Mo ey $iag5n0 (Ans: 3)
M}y x—y—-2=1 2y x y-2=0 3 x p-2=0 4y x ¥y 4=0
126, I a coaxal system of circles has (0, (1) as one ol its limiting points and x + p = | as the radical axis
then the other limiting point is
x+y =1 & Sorergprm Ne o B Sioeld (0, 0) o B Dosids, Bt el Sodey

(y (L1 @) (2.2) (3 G, 3) 4 (-1, =) (Ans: 1)

S [P.T.03,
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The focus of the parabala f -x v - 21=01s
Sortecthe 1 —x -y - 2 0 e, T
|'. q |'. q '\.\_I l.l' q i"'\.l (A . 2
) = 1 s : l - ‘o -_‘ paet | nSl )
(1 |k i 2 |_~4 _. () (1. 1) i4) |4 dr;|
- Avcirele is inseribed inoan ellipse with the minor axis as the diameter of the circle. Then the

eccentricity ol the cllipse is
P et oy o dhfo ol E.gwxgm. exodlifotndnl, o nhﬁﬂ ito S.E-';;DIQE'
2 1 |

M (2) :;5 3 75 * & (DELETED)

(One Mark added To All)

The equation of a circle in polar coordinates is + — 5 cos 8 — 5473 sin 0, Then its centre is
S _-.:;- A Ao = S cos 0 54..."5 sin U, esipéia o oo
r’ﬁ _.E*.I . .-*‘_P ﬁ] f.-1 . (AnS. 3)
i 2 ]>7) ® %5 @ |53
. The centre of the hyperbola 9% — 160" 1 18x + 320 — 151 = () is
e Oy - L6y 1 18 = 32— 151 =0 s y Foitic (Ans- 1)
(1) -1, 1) {2y (1, 1) (3 (1.1 (01,1

If Aand B are square matrices of arder »# and if #|, 2 # are ranks of A B AB respectively

then =

A, 3 oo r S BORE DocsREzBse e, A B, AB e 83 S5 rpL rr, ry o i oE

(1) 2r—n+n (2} A+r-n ) —in-r) @4 r+n (ANS:2)
Let A be a square matrix of order n, Adj A be its adjoint matrix. If rank of A is 7 then the tank of
adj As

[ a-.:”.u B2 DEOEIEE A, ool eslomodiir dE Adj A s od A Gl 5'353 moescons Adj A Bl
1) n-2 (21 m—1 {3 i =n-1 (Ans: 3)
IFT: R? — R is the linear (rmsformation piven by TAL DD=3.T(1,2) = L then T (x. ) =
T(L1)=3T(,2)=1ed Heobads 3cn 36265 T : R 5 R so29d T (x )

(D x12p (2) 3 ¥
(3) S 2y ) 6p  3x (Ans:3)
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CIEF R? — R is the linear transformation given by f(x, vy = (x — 2w 1 2x) then the kernel ol f

15:

Fix ) dr =2y — 20D vaobeds dbab 53553 7 R - R? wosd £ oot wol

{1y 40} (2% {0, (i (Ans: 2)
{3y {2, 1), (1. 20} 4y LT, 1 (00

If T : R? — R7 is the lincar wransformation defined b T (x, ¥) = (x — x ¥ = 2x] then the nullity of

T 13

T:R* 5 R? o Bhas BEAOE Ti{r ¥)={x + 3 ¥+ 2D lokads T oo, B

() R @2 1w, 0 (33 0 (4} 1 (Ans: 3)
[0 (x ) = (3x—p 2x + 4y, Sx - 6)) defines a linear transformation fom R? into R then the matrix

ol linear frunstormatien T with respect to the standard bases is

R sood RY 6 T {x )= (33 20 = 4y, 51— 6p) o8 Shobnongsit Dok, S T Ger, mrnds,

e EE AT SNy

"o -1 k! -1
3 2 i3 2z 5 7 ! i
(1) L IECI I B O b
-1 4 6 -1 -4 8] ° 5 s -6/ (Ans: 4)

3 ) | 5

Eigen values of the linear operator T ; R — R prven by T {x, p 2)={2e + », ¥y —z, 2¥ + 420 amc
Tirwa)=(2x+py-z 2p+4;}1uu roeEs Bhak BENES T: RY — R deoty. =il Dasten

(1} 3,32 (2) 1,2 (3 27,3 4 1,1,3 (Ans: 3)

I A # -2, and the svstem of cquations
(1-A)x-3y13:=0
Se-(5+A)p+3=0
Gx—by+(d—Aiz=10

has non-zero solutions then A =

A od =2 wininm Slostiere g
(1-Rpx—3y+3z =0
3-(G+A)y+3z=10
Gx—By+(d—Alz=1

5’: ;&;lu;l T'\..: ) j_u_'l_n_plﬁ A=

(1} 3 2y 4 (3] 4 4 -3 (Ans: 2)

[P.T.O.
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28

2 -1 1
A=i—1 2 -1 =>a'_64+94% =
1 I -1 2
(11 44 (21 3A
(3) 24 (#) A (Ans: 1)

If T : R* — R is the linear transiormalion given by T (x, ¥) = (x — p, v — 2x, 2x — 31 then the rank
of T is

ot meEgs T RT S R el T ) =(v p,y—2r, 2r = 3) S miagedad T ook, §'ed
(17 1 ) 2 (31 © (@) 3 (Ans: 2)

The inlegers m = 1 such that x* 1+ x 1 1 divides (x + 1" — #™ — 1 are of the form

F+1™ ™ttt l e Fhicuidaiy Irgroses m 2 1 o Erbe

il ak+2ortk+3 ke {20 6k+3or0k+ 4, ko N

{3y 6k+lordk 1 5, 6 NwA0Y {4) m is any inecer (Ans: 3)
m YT Tols

If w {* 173 an sih root of omity then 1+ 2w 4 3u° 1= !

wo(E 1) =28 Damd 0 35 dareRn® 14 2w + W+ =

i M i — "
1 7 —— 4 —— (Ans: 1
() w—1 (2) L—w T al 1+ w ( )

[ de= fixoo = fix)=
YA

[
(1 Jog e =11+ (20 2log e =1+
(Ans: 4)
(31 log (e D+ 2x 4 2logie® 1) -x
| dit it
u=tan " {x+ y) = x— 4 y— =
ﬂ"u I:]Jr'
[ .
(11 sin Zu (2} cos 2u {31 —sinlu i4) —-::u:n i (Ans 3)

-
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A

i b

29

-1

T k= log | gixy| —c= gix)—

Caf{aet =1
. X o xet + 1
RS : e
2y HDe i (Ans: 1)
3] —— 4

X £+1

nid

| log{l+ tan x)de =

L

T I

(1) Slog2 (3] ilng 2

{3 glngﬂ {4 %Ing’z (AnS: 3)

Lsing the empirical relation between Mean, Median snd Mode, Mean=x (3 Median  Mode) implies
X

- - CE-R Ty LT o, o, R LT T o e — L sl M= . W - s - - [
w255, loliein, EFortlion Mhadl eSriarilE Romoalray iy, B o x (3 ‘._;-.fﬁfl.-ﬁf-‘;x; - ::;w-u--;;,:j

Ba5G X =
1
) ey (2)

(3) 2 (4] 3 (Ans: 2)

Three cons are tossed simultancously. The probakility of petting exactly one head s
Eoctly Tess 25D JDODLE. bl pdyEom wind oo, TRORE Sogrti

= el

A

R
[’H

-.'J-n||—-

111

-
i

8

(Ans: 2)

(4}

o0 | un

[P.T.Ch.



4% The varance of the first # natural numbers 13

A
M5

Toolied n e Doge Jd

(1

(2)

(3)

()

If two dice are thrown simultancously then the probability of getting a total of 7 is

Dadly oo

i1}

(2]

(3)

{#)

.TI.E +1
12

360

L

c~.|*-'“

D o, el T Rasdiore S

[

T S

4 :.':'C‘Ef.ﬂ:aé‘i"j

(Ans: 4)

(Ans: 2)
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